HBEG=1 BE4 2021 £ 5H10H
E3ATH, AT DL B0 FHRBIIMEREFE OBRIE L SR 2 X0,

f4.1. A= (“ Z) A= <d _b> ¥ ¥3, 2O E AA=AA = (ad—bo)E BT¥, ThED, ANE

C —C a
ICH 5 7 b DU &M ad —be £ 0THD, A7 = AL 75,
B \ A C A"l —A-lcB!
M 4.2. A, B BERITAIZS1X, P = BIERITHoT, P = ThHrIL%
O B @) B!
T~
9 4.3. 4.1 4.2 ZHOTROITH DOHETHIZ KD X,
21 0 3 32 1 1
1 2 -1 7 5 3 3 5 3 01 9 o 4310
) | -2 -3 4 2) |3 2 1 3) o 2 5 4 B 5
(1) (2) (3) ()0011()0025
0 0 1 0 0 2 01 3
00 2 3 00 1 3

M 4.4. EHTH AP A? —sA+tE =0 %li7zT 855, COLE t#£0THUIAZEATH-T, AD
WATHNE AL = %(sE —A) ¥ B IR,

2 -1 1 1 2 -1

fl45. A=|-1 2 —-1|,B=|2 -2 2|33, M44ZHVTROMIZEZ
1 -1 2 -1 2 1

(1) A —BA+4E =0 %mL. A™' A% &XRD &,

(2) B>+2B-8E=0 %=L, B!, B2 X X,

M 4.6. AZES{THle L. E+ AZIEATAIE § %, 2O ERZRE, (of. MIBAEEE ZEREH FIRE 3.10.)

(1) (E-A)(E+A) ' =(E+A)HE-A

(2) E+'ABIEHI

(3) AWZRUTINR 51 (E — A)(E + A~ ZEATH

(4) ADEZATHE 513 (E — A)(E + A) ™ @32 R4751
2 -1 1 -1/V3 -1/v2 1/V6

Ma7. A=|-1 2 1|,P=|-1/V3 1/vV2 1/V6| %,
1 1 2 1/V3 0 2/V6

(1) PPEZITANTH 5 Z e 2D, PLAP 2515HE L, (k> b P PAP IRAITINCHED £5, )
(2) A% (k=1,2,...) % (1) ZHWVTRD &,

3.2 0 2/3  2/3 —1/3
a8 A=|[2 2 2|, P=|2/3 -1/3 2/3 | 3%,
0 -2 1 ~1/3 2/3  2/3

(1) P ERATHITH 5 Z b 2lfDD, PTIAP 2tEE X, (¥ b PYAP BxtAfTsicizh £5, )
(2) AF (k= 1,2,...) % (1) ZHVTRD X,

-1 —3i 1 (1 i
f§4.9. A= ,U=— S
<3i —1) V2 (Z 1)

(1) UD2=& V475 TH B 2 2D, U AU ZatER K, (b ¥ b UTTAU 3MAITINC 2D 25, )
(2) A* (k=1,2,...) % (1) ZHVTRD &,
M 4.10. EHITHI ADPREFTHIUIE - AZERITHZ 2 ZRL, (E—-A)' % A DZHEATRY,
By b (BE—A)E+ A+ + A 2itiek (Ar~zxg 2 538000 05T A" = 0),

def 137E%8 (definition) DK T,



